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PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.

Then mark the answer on your answer sheet.

1-  When you -——----- a meeting, it is important to speak clearly, confidently and at a good pace.
1) assess 2) propagate 3) address 4) impress

2-  People like the newly proposed system, but because of the costs involved we do not
believe it is ---------- , and we need to look for other options.
1) compliant 2) defensive 3) ingenuous 4) viable

3-  The country in question is very poor, and one in seven children dies in ---------- .
1) infancy 2) nutrition 3) malfunction 4) mortality

4- I don’t consider myself to be particularly ---------- , but when I’m given a job, I make
sure it gets done.
1) industrious 2) spontaneous 3) risky 4) unexceptional

S5-  The new airliner is more environmentally-friendly than other aircraft, its only ----------
being its limited flying range.

1) demand 2) drawback 3) controversy 4) attribute

6- The celebrity will ---------- assistance from the police to keep stalkers away from his
property.
1) extend 2) invoke 3) absolve 4) withdraw

7-  When plates in the Earth’s crust slide or grind against one another, an earthquake with
devastating consequences may be ---------- .
1) derived 2) surpassed 3) triggered 4) traced

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

The new species was named Maiacetus inuus, which means “mother whale,”
(8) ~-=mmmmmm- in the family Protocetidae. Assignment to a new species was justified due
to critical differences from other protocetid whales, such as solidly co-ossified left and
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right dentaries (lower jaws), (9) ---------- in the ankle, and significant disparity in hind
limb elements. The fossils show (10) ---------- this new species’ length is unimpressive
relative to some extant (living) whales, but still, Maiacetus inuus measures a
respectable 2.6 meters.

8- 1) placed 2) that placed 3) was placed 4) and was placed
9- 1) there were variations 2) varying

3) variations 4) which varied
10- 1) when 2) that 3) although 4) for

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1I:
Traditional turkmen carpet making art in Turkmenistan relates to the production of
traditional Turkmen carpets and carpet products: hand-woven woolen textile products
decorated with ornamental art. The carpets feature a dense texture ornamented with
characteristic colored patterns pertaining to one of the five main Turkmen tribes. They
are characterized by patterns forming clear linear geometric arrangements. The context
in which the carpet weaver lives— including local flora, fauna, and the environment—is
reflected in the combination of threads, pictures and colors creating the carpet designs.
Turkmen carpets are created on horizontal or vertical looms, mainly using different
colored wool threads. The carpets serve both as floor coverings and wall decorations,
and special carpets are also woven for the birth of a child, wedding ceremonies, and
prayer and mourning rituals. The carpet-making art is broadly integrated into the social
and cultural life of Turkmen people and is considered as a sign of cultural identity and
unity. Related skills and knowledge are transmitted within the family, and the viability
of the tradition has been continuously ensured by community members. The annual
celebration of Carpet Day plays a key role in the transmission of the element by
gathering various communities, strengthening social ties and cooperation.

11- What is the passage mainly about?
1) Carpet products
2) Ornamental art
3) Hand-woven woolen textile products
4) Traditional turkmen carpet making art in Turkmenistan
12- The context in which the carpet weaver lives is reflected in the combination of ---------- .
1) flora, fauna, and colors 2) threads, pictures, and colors
3) flora, fauna, and the environment 4) threads, pictures, and the environment
13- Which of the following statements is true about Turkmen carpets?
1) They serve only as wall decorations.
2) They are created only on horizontal looms.
3) They use different colored wool threads.
4) They reflect none of the five main Turkmen tribes.
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14-

15-

16-

17-

18-

According to the passage, special Turkmen carpets are woven for all of the following
occasions EXCEPT for ---------- .

1) mourning rituals 2) wedding ceremonies

3) the birth of a child 4) celebrating the new year

The word “viability” in paragraph 2 is similar in meaning to ---------- ,

1) feasibility 2) authenticity 3) prosperity 4) sensitivity
PASSAGE 2:

Machine-made rugs and carpets take their names from the looms employed—Wilton,
for example—or the construction method, such as ingrain or Brussels. After 200 years
of use, the ingrain became almost obsolete during the 1930s because of its relatively
poor wearing qualities. Also called Kidderminster or Scotch, it is flat ribbed,
reversible, and completely without pile, and usually could be made with two- or three-
ply warp and weft yarns, dyed before weaving.

Brussels carpet, with uncut looped pile formed by round wires, was first introduced
about the mid-18th century. Shortly after, Wilton followed with the development of
bladed wires producing a cut pile. Both were capable of producing elaborate pile
designs, and the Jacquard device was used with them from about the 1820s, when it
replaced hand selection of colored pile threads. Bigelow’s power principles were
applied to the loom from about 1849. Pile not used for surface design is woven
longitudinally into the body of the backing fabric. Brussels carpets, woven on the
Wilton loom, but with their pile remaining uncut, are no longer sold in large quantities.

Tapestry is a printed pile yarn carpet that may be cut or uncut but must, by its
nature, normally be one pile thread per dent. In order to make a design by a method
other than printing yarn, more than one pile yarn per dent (five or six usually) is used
with a jacquard. The term velvet, more common in the United States, is used to mean
cut pile single frame; that is, plain carpet for which tapestry technique is not used. A
velvet carpet is basically one of Wilton type.

Tapestry carpets were invented in Scotland in 1830 but are now virtually obsolete.
Few of them were produced in the main carpet centers (Kidderminster, West Riding of
Yorkshire, and Scotland) after World War I1.

Where do machine-made rugs and carpets take their names from?
1) The type of looms or the construction method

2) Ingrain or Brussels

3) Wilton or Brussels

4) Wilton or Ingrain

The underlined “it” in paragraph 1 refers to ---------- X

1) Scotch 2) Brussels 3) the ingrain 4) Kidderminster
Which of the following statements is true about Brussels carpet?
1) It became almost obsolete during the 1930s.

2) It was first introduced about the mid-18th century.

3) It is only made with three-ply warp and weft yarns.

4) It is completely without pile.
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21-

22-

Which of the following statements is true?

1) A velvet carpet is basically one of Brussels type.

2) The term velvet is used to mean cut pile single frame.

3) Tapestry carpets were invented in Scotland in 1930 and are still widely used.

4) Brussels carpets, woven on the Wilton loom, but with their pile remaining uncut,
are still sold in large quantities.

Where does the following sentence best fit into the passage?

The term frame is often used instead of pile thread per dent, and a single frame carpet is

therefore a plain carpet with one thread per dent.

1) End of paragraph 1 2) End of paragraph 2
3) End of paragraph 3 4) End of paragraph 4
PASSAGE 3:

Tufted textiles had only just begun to grow by 1950. The bedspread boom had gparked the
creation of a regional machine-building industry. Firms like Cobble Brothers in Chattanooga,
Tennessee, and Cabin Crafts in Dalton experimented with larger and larger tufting machines.
The effort to produce a tufting machine wide enough to mass-produce bedspreads combined
with the growing popularity of scatter rugs to inspire the most ambitious, and successful,
innovation of the Dalton industrial complex: a carpet tufting machine.

Dalton manufacturers and machine makers quickly adapted the wide tufting machines for
the production of room-sized rugs and wall-to-wall carpeting. Up to 1950, the production of
carpets and larger rugs had been concentrated in the Northeast. A handful of large firms like
Connecticut’s Bigelow-Sanford and New York’s Mohawk Carpet Mills dominated a
relatively low-volume industry that produced high-priced goods. Northern mills used
traditional woven technology (power looms) and a relatively expensive natural fiber, wool.

Around 1950 old spread-making firms like Cabin Crafts and brand new maverick
companies like E. T. Barwick Mills (based in Chamblee with mills in Dalton and Lafayette)
began using tufting machines to cover the entire surface of a room-sized piece of backing
material with raised tufts of yarn. Working primarily with cotton, the new manufacturers
could produce carpets that resembled woven goods. The new tufting process was much more
efficient. A tufted cotton carpet sold for about half the cost of a similar woven wool product.

Cotton carpets were of poorer quality, however, and woven manufacturers derided the
new products as glorified bedspreads. Du Pont helped the new industry solve this problem by
introducing bulked continuous filament (BCF) nylon in 1957. Georgia tufting companies had
already begun catching up with woven manufacturers even as they worked with inferior
materials. Du Pont’s nylon fibers proved comparable to wool in performance but remained
inexpensive.

The word “sparked” in paragraph 1 is similar in meaning to ---------- x

1) encountered 2) abandoned 3) recovered 4) triggered
According to the passage, which firms dominated a relatively low-volume industry that
produced high-priced goods?

1) Connecticut’s Bigelow-Sanford and New York’s Mohawk Carpet Mills

2) Connecticut’s Bigelow-Sanford and Cobble Brothers in Chattanooga

3) New York’s Mohawk Carpet Mills and Cabin Crafts in Dalton

4) Cobble Brothers in Chattanooga and Cabin Crafts in Dalton
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23- Which of the following statements is true about tufted cotton carpets?
1) They enjoyed high quality.
2) They were only used as glorified bedspreads.
3) They were cheaper than woven wool carpets.
4) They were highly praised by woven manufacturers.

24- The underlined “they” in paragraph 4 refers to ---------- 1
1) inferior materials 2) woven manufacturers
3) Du Pont’s nylon fibers 4) Georgia tufting companies

25- Where does the following sentence best fit into the passage?
The marriage of the new production technology with synthetic fibers like BCF nylon created
an economic boom in northwest Georgia.
1) End of paragraph 4 2) End of paragraph 3
3) End of paragraph 2 4) End of paragraph 1
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